Phenotype Data Analysis Plots

PhenoData day range
Analysis cutoff day
NC11 P10

2025-05-23 (Day 53)

10 — 292
92




P10AW

TrussNodeMaxPerStem (Def=6.0 Set=6)

BYE- 9. % prezne

1 2 3 4
Object Number




P10AW

FruitNumAvgPerTruss (Def=15 Set=4)
= ~199 =
avgl=4.0 19% avg2=na D10AN.

o)
o0 e o o]
------------- 00 -6---9&-

0 5 10 15 20

Object Number

TrimFr

FruitNumMaxPerTruss (Def=na Set=5)
avg1=5.070% avg2=na

1t

6_

@ -—--@--—--@-——-0

0 5 10

Object Number

15

20




P10AW

NdL_Q90AbsY (Def=5 Set=4.49)
avg1=4.4972% avg2=na

5
[
- ———g————— -0 ————=——
4_
3_
2_
‘]_
0_
T T T T T
0 5 10 15 20 25
Object Number
FrV_avgAbsY (Def=na Set=na)
avg1=61.48716% avg2=na
(510
o
40 -
20 A
0_
0 5 10 15 20 25

Object Number

LfA_avgAbsY (Def=na Set=0. 05)
RIMIAYD. PRe IS tag2=na

([
0. 06
[ [
______ _..____.____.._.______
0. 04
°® [
0.02 +
0. 00 +
T T T T T
0 5 10 15 20 25
Object Number
LfW_Q90AbsY (Def=30 Set=42.0)
avgl1=42.072% avg2=na
®
40 JO— T mmmmm e - —-—=0 - -
[
20
0_
0 5 10 15 20 25

Object Number

LfL_avgAbsY (Def=na Set=37.85)
avg1=37.8579% avg2=na

01 o ___@___ @ ___ o ——@--
°
°
30 ® °
20 -
10 -
0_
T T T T T
0 5 10 15 20 25

Object Number

LfW_avgAbsY (Def=na Set=41.45)
avgl1=41.45"17% avg2=na

e
40+ -—O =@ e o -0
® .. [ ]
20
0 -
0 5 10 15 20 25

Object Number



FrD_Q90AbsY (Def=70 Set=70)
avg1=48.975% avg2=na

60 -
_____ ._________1r________
40 -
20 A
0_
T T T T T
0 5 10 15 20 25
Object Number
FrV_Q90AbsY (Def=179.5 Set=179.5)
avgl1=61.48716% avg2=na
150
100 -
_____ Qe ]
50 - ()
0_
0 5 10 15 20 25

Object Number

LfL_Q90AbsY (Def=40 Set=38.5)
P4 QW 3PHEN b Ste@=na

40 tg=——w===== - -————¢-—
30 A
20 A
10 ~
0_
T T T T T
0 5 10 15 20 25
Object Number
FrD_avgAbsY (Def=na Set=na)
avg1=48.975% avg2=na
______ !_________1r_______
40 ~
20 ~
0_
0 5 10 15 20 25

Object Number

NdL_avgAbsY (Def=na Set=4.45)
avgl=4.4572% avg2=na

5_
- -~ 90 - --g00---00 ---00- 2%
4_
3_
2_
1_
O_
T T T T T
0 5 10 15 20 25
Object Number
NdD_avgAbsY (Def=na Set=14. 88)
avgl1=14.88714% avg2=na
() ®
15 e ---—..---.-—J!-
® L2
[
() o
10 -
5_
O_
0 5 10 15 20 25

Object Number




LfA _Q90AbsY (Def=0.04 Set=0.05)
avg1=0. 05°5% avg2=na

¢
0. 06
P S
0. 04 @
0. 02 -
0. 00 -
T T T T T
0 5 10 15 20 25
Object Number
NdV_avgAbsY (Def=na Set=7.57)
avgl1=7.57"27% avg2=na
10.0 - o ¢
e @@ O
7.5 - > o ot
501 o o
2.5
0.0
0 5 10 15 20 25

Object Number

NdD_Q90AbsY (Def=18 Set=15.53)
RiMAN PR3 NYE bag2=na

15 F—-——- o-———- -—-O--—-—-0-—-
o
10 -
5_
0_
T T T T T
0 5 10 15 20 25

Object Number

NdV_Q90AbsY (Def=12.72 Set=8.19)
avg1=8.19711% avg2=na

10 ®
_____ ._____‘___JL________
®

5_

0_

T T T T T
0 5 10 15 20 25

Object Number



UF

UF

P10AW-003-11 (fit failed)

BDL [0.65, 0.83, 27.77, 1.0]

20 +
10 o .
-"/‘/‘e‘
0
0 ——————— 1_—__/;’1_13““__ —
_1 T T T T T T
0 10 20 30 40 50
P10AW-041-24 (fit failed)
30
BDL [0.65, 0.1, 24.85, 0.99]
20 +
10 4 /
- -)/',()
0
0_ ________ T\—_—/}*j{-:\—?—_— F—

UF

UF

P1OAW-O16¢aN (fit failed)

301 BDL [0.63, 4.93, 14.45, 1.0] ’jﬂ//,
20 ﬂ
N ’17//726
- ‘ﬁ’ '/gr
0
0_ ________ ﬂ——“:f—_’*::ﬁ:./— S——
_1 T T T T T T
0 10 20 30 40 50
P10AW-054-10 (fit failed)
BDL [0.65, 0.1, 34.77, 1.0] 357//
20 - o
10 /
&
,-,/
0
L [ S e AT

P10AW-029-30 (fit failed)

20 A

10 1

BOL [0.57, 0.1, 26.65, 1.0]




20 ~
15 1

10

P10AWavg (ﬁﬂt failed)

BDL [0.63, 0.1, 28.0, 1.0]
25 + 2

&




P10AW

av

a (Def=0.56 Set=0.63)
g1=0. 63 (fail) avg2=0.63

2 4 6
Object Number

dm (Def=2 Set=0.1)
avg1=p11{%kﬁfa'\'irl{2\| avg2=0. 1

9 o)
4_
3_
2
L L e e e e
of-——=—====-- S i C TS SEENC PP
T T T
0 2 4 6

Object Number

de (Def=5 Set=28.0)
avgl=25.7(fail) avg2=28.0

35 -

30

25

20 H

15 1

10 4

0 2 4 6

Object Number




P10AW

InitDev_dm (Def=2 Set=0.5)
avg1=0.570% avg2=0.5

P10A
2.0
1.5 4
1.0 -
0.5+ —-0-——-@——-9——-6-- - —--
0.0~
0 2 4 6

Object Number

InitDev_de (Def=5 Set=28.0)
avg1=28.070% avg2=28.0

Inigo
25 ~
20 A
15 4

10 4

0 2 4 6

Object Number



P10AW-003-11 P10AW-016-3 P10AW-029-30

Linear [0.49, 5.28, -10.84, 1.0] @/ Linear [0.47, 5.68, -12.0, 1.0] @/ 20 Linear [0.45, 4.67, -10.38, 1.0] —_@
20 A &2 20 A & >
‘)’/z‘ 'z/ggzz‘ 15 4 <

15 4 yﬁﬁgréyg 15 4 I)?/g /X%TJZZ
10 - & 10 - / 107 P

UF

20 -

T _1 T T T T T T

T T T T T T
0 10 20 30 40 50 0 10 20 30 40 50 0 10 20 30 40 50

UF

P10AW-041-24 P10AW-054-10
//% 2 Linear [0.49, 4.1, -8.33, 1.0] /
P’Z/ 15_ P JJ
/ 10 /
= I P—
Linear [0.49, 5.65, —11.63, 0.99]
0
———————————— A T B O et B s




P1péWavg

20 A

15 4

10

-
-

Linear [0.48, 5.07, -10.86,

1.0]




P10AW

a (Def=9.42 Set:0.481
avg1:0.6119n%°® a]v_gEIZO. 48 2%

0.5 L::*:::‘::::::: S

0.4 -

0.3 -

0.2 -

0.1 -

0.0 -

0 1 2 3 4 5
Object Number



LN

By Plant/Organ Age

By Start Date

30

10

0

-1

50

45

40

30

.0

-1

0

1.

0.5

0.0 frmm = e

-0.5 A

0

-1

-0.5 A

.0

-1

50

40

30

20

10

50

45

40

35

30



P10AW-003-11 P1GAWM-016-3 P10AW-029-30

Linear [2.86, -20.12, 7.04, 0.95]

Linear [2.96, -9.55, 3.23, 0.99]

Linear [3.12, -16.2, 5.19, 0.98]

100 - 100
50 - 50 1
0 0
L
=)
-1 T T T T T -1 T T T T T -1 T T T T T
0 10 20 30 40 50 0 10 20 30 40 50 0 10 20 30 40 50
P10AW-041-24 P10AW-054-10
Linear [3.23, -14.91, 4.62, 0.99] Linear [3.11, -13.75, 4.42, 0.98]
100 - 100 -
50 H 50 -
m l//ﬁ?")7//;»/ |
L 0 f-—-——- ——— == 5 0
_1 T T T T T T _1 T T T T T T




P10AW

a (Def=3 Set=3.11)
0,
A W i

Object Number

4




P10AW

StH

o By Start Date o By Plant/Organ Age

-1.0 : : : : : : : -1.0 : : : : :
20 25 30 35 40 45 50 0 10 20 30 40 50
1.0 1.0
0.5
0.0 frmm = e
0.5
-1.0 : : : : : : : -1.0 : : : :

20 25 30 35 40 45 50 0 10 20 30 40 50



P10AW-003-11

Linear [0.16, -0.8, 5.13, 0.99]

i

y

T T
0 10 20 30

P10AW-041-24

Linear [0.17, -0.9, 5.43, 0.99] /

P1GAN-016-3

Linear [0.17, -0.84, 4.94, 0.99]

~

4

L
o

0_

_______ e

T T T
20 30 40 50

P10AW-054-10

Linear [0.15, -0.78, 5.12, 0.99]

P10AW-029-30

Linear [0.14, -0.69, 4.8, 0.99] Ji /’




UF

P1QéWavg

6 Linear [0.16, -0.8, 4.97, 0.98] )?/z/,/




P10AW

175 4

. 150 4

. 125 4

. 100 A

. 075 ~

. 050

. 025 4

. 000 -

a (Def:9.14 Set=0.161
avg1=0.F}1ﬁnZ‘{& af(é;ﬁ:O. 16 9%

0 1 2 3 4 5

Object Number




P10AW

TsN

o By Start Date o By Plant/Organ Age

-1.0 : . : : : : -1.0 . . . . :
25 30 35 40 45 50 0 10 20 30 40 50
1.0 1.0
0.5 -
0.0 fmmmmm e
0.5 - 0.5
-1.0 : . : : : : -1.0 . . . . :

25 30 35 40 45 50 0 10 20 30 40 50



P10AW-003-11T1

Linear [0.44, -5.98, 13.73, 0.89]

0 10 2I0 3I0 40
P10AW-016-3T1

Linear [0.44, -5.26, 11.89, 1.0]

4

) /

N /

11 /

0

Y S A U |
L . . .

0 10 20 30
P10AW-029-30T1

8 1 Linear [0.61, -9.02, 14.72, 0.97]

6 -

4

. s

. Vil

ol

p10AWN03-11T2

10.0 4

7.5 A

5.0 4

2.5 A

0.0

Linear [1.21, -26.09, 21.59, 1.0]

0 1 I0 2I0 3I0 4I0
P10AW-016-3T2 (fit failed)

35 3I6 3I7 38
P10AN-029-30T2

Linear [0.42, -8.36, 19.88, 0.99] /

4

P10AW-003-11T3 (fit failed)

50.5 51.0 51.5 52.0

P10AW-016-3T3 (fit failed)

0 T T T T
44 46 48 50

P10AW-029-30T3 (fit failed)




10

P10AW-041-24T1 (fit failed)

29 30 3H
P10AW-054-10T1

32 33

Linear [0.83, -10.01, 12.06, 0.91]

P10AWNa1-24T2

8 - Linear [0.76, —15.93, 20.86, 0.98]
6 -
p
4 /
2
. /
0 T e e
_1 T T T T T
0 10 20 30 40 50
P10AW-054-10T2
6 - Linear [0.56, -11.37, 20.38, 1.0] /
4 ¢
®
2 #
0 J
QpF—————rr e -
-1 T T T T T
0 10 20 30 40 50

P10AW-041-24T3 (fit failed)

48.0 48{5 45.0 49{5 50.0
P10AW-054-10T3 (fit failed)

48 49 50 51 52



P10AW

a (Def=0.45 Set=0.59)
avg1?91ggifq%rﬁvg2:na

¢

Object Number

6




P10AW

By Start Date

_1 . 0 T T T T T T T T
30 32 34 36 38 40 42 44
1.0
0.5 1
0.0 +=sm== —rmdm————— N ettt
_0. 5 -
_1 . 0 T T T T T T T T
30 32 34 36 38 40 42 44

FrN

1.

0.5

0.0 -

-0.5 A

-1

1.

0.5

0.0 -

-0.5 A

-1

0

0

0

0

By Plant/Organ Age

T T T T T T T T
0 5 10 15 20 25 30 35 40

T T T T T T T T
0 5 10 15 20 25 30 35 40



P10AW-003-11T1Fr1 (fit failed)

QO
.08 -
. 06 -
(]
.04 -
.02 - o
O
.00 12— | | ; ;
32 34 36 38 40
P10AW-003-11T2Fr5 (fit failed)
14 4 =70
12 0
.10 -
0
O
.08 -
0
. 06 -
o 0
.04 -
02 ® 0
@]

.00 L= - . . . 10
40.0 42.5 450 47.5 50.0 52.5
P10AW-016-3T1Fr5 (fit failed)

BetaS [0.63, 35.5, 15.21, 18.25, 1.0] :
0.2 d
s
0.1+ (/
Iy
0.0 a8
0_ _______________ ——— e )

0.3 A

0.2 -

0.1 -

0.0

. 0030 A

. 0025 A

. 0020 ~

. 0015 -

.0010 A

. 0005 -

. 0000

0.04 -

0.03 A

0. 02 -

0. 01 -

0.00

P10AWEGY3-11T1Fr5

BetaS [0.34, 27.5, 15.84, 4.5, 1.0] v
J
0 [ 5 S A S — —— e N e
(I) 1 I0 2|0 3|0 4|0 5|0
P10AW-003-11T3Fr1 (fit failed)
O
O
50|. 0 50|. 5 51I. 0 51I. 5 52|. 0
P10AW-016-3T2Fr1 (fit failed)
O
L
o T T T T

36 38 40 42

UF

P10AW-003-11T2Fr1 (fit failed)

175+
. 150 ~
. 125 +
. 100 ~
. 075 -
. 050 -
. 025 -

@

%)
L 4

000

(©)

o (@]

40

45 50

P10AW-016-3T1Fr1

0.4 -

0.3 -

0.2+

0.1+

0.0

BetaS [0.4, 21.5, 15.2, 6.25, 1.0] |J¥

1I0 2I0 3I0 4I0 50
P10AW-016-3T2Fr5 (fit failed)

. 25 A

.20 A

.15 1

.10 A

. 05

0]

Q

.00

40 45 50



P10AW-016-3T3Fr1 (fit failed)

.05 A

. 04

.03 A

.02 ~

.01~

@)

a
L 4

@)

(]

.00 -+

44

4I 6 4I8 5I0
P10AW-029-30T1Fr5

.20 A

.15 1

.10

.05 A

.00

BetaS [0.21, 29.5, 14.22, 4.5, 1.0]

UF

T T T T T
10 20 30 40 50

0. 0010 -

0. 0008

0. 0006 -

0. 0004 -

0]

0. 0002

P10AW-029-30T3Fr1 (fit failed)

0.0000 -—
50.

0

.0

.0

.0

.0

.0

.0

.0

P10AW-016-3T5Mr5 (fit failed)

030 A ®
025
020
015
010
O
005
000 T T T T T
50.0 50.5 51.0 51.5 52.0
P10AW-029-30T2Fr1 (fit failed)
0.4 1 °
0.3+
O
0.2+
@)
0.1 1
e}
o)
e}
0.0 —= o T T
40 45 50
P10AW-041-24T1Fr1
0.3+ o—
¢
O
0.2 1 o‘
BetaS [0.3, 10.5, 20.96, 4.5, 0.98]
@]
0.1- aﬂf{
O. m -«P‘Pffé
0r=———————————— ;7—\_‘/{\—\1 -]
_1 T T T T T
0 10 20 30 40 50

0.

. 000

P10AW-029-30T1Fr1 (fit failed)

. 06

. 05

. 04

.03 A

.02 1

.01 1

@)

O

O
@

.00

0

30I. 0 32I. 5 35I. 0 37I. 5 40I. 0
P10AW-029-30T2Fr5 (fit failed)

035 ~

. 030 -

. 025 -

. 020 ~

. 015 -

.010 ~

. 005 -

0

A

a
W

O

()]

4I4 4I6 4I8 5I0 5I2
P10AW-041-24T1Fr5 (fit failed)

0.4

0.3 -

0.2+

0.1 -

BetaS [0.59, 34.5, 12.12, 12.42, 1.0] /
/ 4

7

.
e

0.0




0. 20

0.15 4

0.10

0.05 A

0.00

0. 005 A

0. 004 ~

0. 003 ~

0. 002 -

0.001 4+ ©

0. 000

© © © © © © o ©°

.00

P10AW-041-24T2Fr1 (fit failed)
o

(@)

40 4I5 50
P10AW-041-24T3Fr5 (fit failed)

@

14
12
.10
08
06
.04
02

51.5  52.0
(fit failed)

@

50I. 0 50I. 5 51I. 0
P10AW-054-10T2Fr 1

~
L 4

O

40.0 42.5 45.0 47.5 50.0 52.5

0

0

0

0

0

0.

UF

.10 1

. 08 ~

. 06

. 04 1

.02 1

00

P10AW-041-24T%+5 (fit failed)
@

O

O

O

b O

40.0

0.4+

0.3 -

0.2~

0.1 1

0.0

50.0

A

BetaS [0.44, 20.28, 15.46, 5.83, 1.0]

42I. 5 45I. 0 47I. 5
P10AW-054-10T1Fr 1

1 I0 2I0 3I0 4I0 5I0
P10AW-054-10T2Fr5 (fit failed)

.07

. 06

. 05 -

. 04 1

.03 A

.02 1

.01 1

O

O

®

(@)

0]

£y

.00

42 44 46 48 50 52

. 000

. 030 ~

. 025 4

. 020 ~

.015 4

. 010 ~

. 005 4

.000

. 008

. 006 -

. 004

. 002 ~

. 000

P10AW-041-24T3Fr1 (fit failed)

. 006 -

. 005 ~

. 004

. 003 A

.002 4

. 001 ~

O

@)

O

4I8 4I9 5I0 5I1 5I2
P10AW-054-10T1Fr5 (fit failed)

O

0

0]

O

©]
o

T T T T
32.5 35.0 37.5 40.0 42.5

P10AW-054-10T3Fr1 (fit failed)

0

O

48 49 50 51 52



P10AW

Ymax (Def=1 Set=0.37)
avg1=0. 37736% avg2=na

1.00
0. 75 A
()
0. 50 +
______ -__+__n____________
0. 25 ~ o
0. 00 +
0 2 4 6 8
Object Number
de (Def=15 Set=4.5)
avgl=4.5719% avg2=na
20
15
)
10 ~
@
54 __L__ -__+ ________ +_ _____
0_
T T T
0 2 4 6 8

Object Number

tb (Def=na Set=na)
avgP1DAW F2W avg2=na

30 -
______ [ Y
20 1 d
10 - Y
0_
0 2 4 6

Object Number

dm (Def=18 Set=15.21)
avgl1=15.21"4% avg2=na

20 - o
15 = === = S T S
101
5
0

0 2 4 6

Object Number




P10AW

By Start Date

0

5

0T =

5

0 T T T T T T T T T
30,0 32.5 35.0 37.5 40.0 42.5 450 47.5 50.0

0

5

P A | e .

5

0 T T T T T T T T T
30,0 32.5 35.0 37.5 40.0 42.5 450 47.5 50.0

FrVv

By Plant/Organ Age

1.0

1.0

0.5

0.0 frmmm e e

-0.5 A

-1.0




P10AW-003-11L11

J 000
0.8 5o°
0.6 -
Y
0.4 -
'O
0.2 1 )
BetaS [0.82, 26.0, 3.6, 9.58, 0.99]
0.0 =
0 fmm —n“-T—--
_1 T T T T T T
0 10 20 30 40 50
P10AW-003-11L6 (fit failed)
0.4 . -
0.3 1 Oxgﬁfa \
Beta$S [0 43, 4.5, 3.6, 22.33, 1.0]
0.2 A
0.1
0.0 g \_
Qp—————————— —-x(,—/— ———
-1 T T T T T
0 10 20 30 40 50
P10AW-016-3L16 (fit failed)
O
0.6 -
O
0.5 A
@
0.4 ~
Q
0.3~
0.2 -
0.1 A
0.0 T T T T
46 48 50 52

UF

P10AW-003-11TA4 (it failed)

° O ®
1.2 -
(@)
1.0
@]
0.8
@)
0.6
0.4
0.2
00 T T T T T T
40.0 42.5 450 47.5 50.0 52.5
P10AW-016-3L10 (fit failed)
oo _
.00 - f*”UF
e}
[}
.75 - \
BetaS [1.12, 20.65, 3.6, 9.93, 0.98]
50_ 7
.25 /
.00 .
oY S A A 1‘_-,.—__
_1I T T T T T
0 10 20 30 40 50
P10AW-016-3L7 (fit failed)
- SY -
0.6 guOee?
0.2 /0
BetaS [0.63, 9.87, 3.6, 16.51, 0.99]
0.0 z et
0--————————————\*<2-\{—"———
_1I T T T T T
0 10 20 30 40 50

P10AW-003-11L17 (fit failed)

0.4 -

0.3 -

0.2+

0.1+

0.0

)

(@)

)

48

49 50 51 52

.75

.50

.25 A

.00 A

.15 7

.50 A

. 25 A

P10AW-016-3L13 (fit failed)
PS [C)

@
O

O

.00

40 45 50
P10AN-029-30L12 (fit failed)

1.2 -

1.0 A

0.8~

0.6

0.4+

0.2+

O

(@)
o

aQ

Q

@)

0.0

42

44 46 48 50 52




P10AW-029-30L15 (fit failed) P10MAWD29-30L6 P10AW-029-30L9

T 0.8 4 S 00
*T 0.8 ﬁ afre®
4) 0.6 - ﬁffi | /
y 0.6 [
0.4 - BetaS [0.79, 7.0, 9.91, 13.63, 1.0] 0.4 4 BetaS [0.85, 21.5, 6.55, 7.75, 0.99]
0.2 - > 0.2 /
0.0 — 0.0 L
5 0_.._____________,1\_(‘.\__.’___ 5 0r————"————f————F— -J‘]———
T T T T T _1 T T T T T T _1 T T T T T T
50.0 50.5 51.0 51.5 52.0 0 10 20 30 40 50 0 10 20 30 40 50
P10AW-041-24L10 P10AW-041-24L13 (fit failed) P10AW-041-24L16 (fit failed)
0@ O O | [®
oof’eé’ 10 0 1.2
‘/ )
1.0 @)
/f 0.8 1 o
4 0.8 4 &
/| 0.6 1o
/ 0.6 -
O
BetaS [1.19, 21.0, 5.88, 9.36, 0.99] 0.4
; H ‘ 0.4 -
——————————————— x—\‘ —-’-——— 0.2 1 0.2 4
T T T T T T 0 0 T T T T T T 0 0 T T T T
0 10 20 30 40 50 42 44 46 48 50 52 46 48 50 52
P10AW-041-24L7 P10AW-054-10L10 (fit failed) P10AW-054-10L14 (fit failed)
OO E - 0]6) 0]
‘ oU 7 OC;O- —n ®
1.0 4 1.2 4 O
~ / 1.0 1 o
BetaS [0.68, 10.0, 7.43, 9.15, 1.0] BetaS [1.19, 25.36, 6.45, 4.29, 0.97]
/ 0.5 4 0.8 1
z [ 0
/ / 0.6 -
) 0.0 ) ’ 0.4149
"___________JX—__ % 0_ _______________ ‘-'l—__ 02_
T T T T T T _1 T T T T T T 0 0 T T T T T T

0 10 20 30 40 50 0 10 20 30 40 50 42 44 46 48 50 52



© © © © © © o ©

P10AW-054-10L17 (fit failed)

@

O

@)

48

49 50 51

52

P10AW-054-13% (fit failed)

0.8~

0.6

0.4 -

0.2+

0.0

= O 6

e

, 16.14, 0.96]




P10AW

Ymax (Def=1 Set=0. 8)
avgl1=0.8731% avg2=na

1.25 4
® O
1.00
___________ @
0.75 o-0-e
(0]
0. 50 +
0. 25
0. 00 +
0 2 4 6 8 10
Object Number
de (Def=12 Set=9.75)
avgl1=9. 75°54% avg2=na
20 -
15 1 +
| | +
[V Sy - ) AN Ve S u——
¢
5_ +
0_
T T T T T
0 2 4 6 8 10

Object Number

tb (Def=na Set=na)
avg P1OARR 1564 avg2=na

L
20 A ¢
10
o ¢
0 -
o 2 4 6 8 10

Object Number

d

m (Def=12 Set=8. 28)

avgl1=6.21726% avg2=na

12.5 4

10. 0 ~

7.5

5.0 -

2.5

0.0 -

D

(

Y () Nyl R -

- —

4 6 8
Object Number



P10AW

By Start Date

1.0

0.5 -

_0.5_

-1.0 . | .

30 35 40 45

1.0

50

0.5 -

50

LfA

1.

0.5

0.0 -

-0.5 A

-1

1.

0.5

0.0 -

-0.5 A

-1

0

0

0

0

By Plant/Organ Age

_________ A A 7\ |
T T T T T T T
0 5 10 15 20 25 30 35 40 45
T T T T T T T T
0 5 10 15 20 25 30 35 40 45



P10AW

FI_dm (Def=5 Set=4.9)
avg1=4.975% avg2=5. 11713%

410 ) o ([ ] o
2_
0_
T T T T T
0 5 10 15 20 25
Object Number
FrV_de (Def=15 Set=4.5)
avgl=na avg2=na
0
8_
6_
4_
2_
0 T T T T
0.0 0.2 0.4 0.6 0.8 1.

Object Number

Fl_de (Def=5 Set=4.9)

avg1=R1DAW Rre2=5.11713%

4 () o o o
2_
0_
T T T T T
0 5 10 15 20 25
Object Number
FrN_a (Def=0.45 Set=0.98)
avgl1=0. 98745% avg2=0. 97 8%
2.0 4
o
1.5 o
o0
| e — 0or ———m— — -
___________ e === g§==3
o
0.5 oo ©
0.0
0 5 10 15 20 25

Object Number

FrV_dm (Def=18 Set=15.21)
avgl=na avg2=na

1.0
0.8 A
0.6
0.4 -
0.2 -
00 T T T T
0.0 0.2 0.4 0.6 0.8 1.
Object Number
FSDdevStage (Def=0.01 Set=0.03)
avg1=0. 03753% avg2=0. 02" 42%
0.25
o
0. 20
0.15 A
0.10 - ®
o [
0.054 ____ !_...__..!___.’_.____
g ——— e ———-- - -g-
0. 00 ~
0 5 10 15 20 25

Object Number

0



FGDdevStage (Def=0.7 Set=0.7)
avgl=na avg2-na

FMBDdevStage (Def=1.3 Set=1.3)
BYOAWa Phe2=na

T T
0.2 0.4 0.6 0.8
Object Number

FHDdevStage (Def=1.5 Set=1.5)
avgl=na avg2=na

FMEDdevStage (Def=1.8 Set=1.8)
avgl=na avg2-na

T T
0.2 0.4 0.6 0.8
Object Number

NNgen (Def=10 Set=7)
avgl1=7.078% avg2=7.4

T T
0.2 0.4 0.6 0.8
Object Number

Object Number

T T
5 10 15 20 25

T T
0.2 0.4 0.6 0.8
Object Number




age=15

0. 035 ~

0. 030 A

0. 025 -

0. 020 ~

0. 015 ~

0.010 A

avg

30

35

40

45

50

LfA: avg vs. d at each age group
age=20

—4— avg
0. 04
0. 03 +
0.02 +
0. 01 ~

20 25 30 35 40 45 50

d

age=25
0.054 Tt v
0. 04 ~
0. 03 1
0.02 1
0. 01 +
Zb 2% 3b 3% 4b 4% Sb
d




LfA: model est vs obsOv@Q350

0.0454 — ad0
o est
0. 040 ;
0.035 //;
4_——_—_——-_—__—___________________
0.030 :
/
0. 020

24




DeltaTypeAbbr=GrpByAge

40 ~

30

20

10 4

_10_

_20 .

—

pcrDelta_avg
pcrDeltaAdj avg

16 18 22 24

P10AW LfA: D 5d LfA
DeltaTypeAbbr=GrpByDay

DeltaTypeAbbr=WeiAvgByD

80 A 80
—4—  pcrDelta_avg —4—  pcrDelta_avg
60 - pcrDeltaAdj avg 60 - pcrDeltaAdj avg
40 - 40 -
20 ~ Y | 20 1 ¢ |
odde D odlde 41 ]l &
| |
_20 L T T T T T T T _20 - T T T T T T T
20 25 30 35 40 45 50 20 25 30 35 40 45 50
d d



P10AW LfA: D_15d_LfA

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD
—b—  pcrDelta_avg —b—  pcrDelta_avg —b—  pcrDelta_avg
100 4 pcrDeltaAdj avg | 200 - pcrDeltaAdj avg 200 1 pcrDeltaAdj avg
150 - 150 -
50 X
100 A 100
L e s e 50 - 50 -
1 1 1 1 1 o eg———— ] (g e
16 18 20 22 24 20 25 30 35 40 45 50 20 25 30 35 40 45 50



P10AW LfA: D_Q50_LfA

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD

—4—  pcrDelta_avg 20 1~ —4— pcrDelta_avg I 1 20 —b—  pcrDelta_avg I
pcrDeltaAdj avg pcrDeltaAdj avg ( \, pcrDeltaAdj avg —
| I e e L P |
0 e s st e - -
0 g e ] ) 1
207 20 - !
_5 -
s | —40 —-40 A
_10 -
-60 1 60 - 5
5 / /
16 18 20 22 24 20 25 30 35 40 45 50 20 25 30 35 40 45 50
d d d




P10AW LfA: D_Est_LfA

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD

L o R e e H e I e R e A e ERmEaaee see e e Bo 0“"‘“‘"““"‘“‘__““'“__"““T‘
: | |
_10 -
-20 - ~ ~20 -
~20 - T
& —40 - —-40 -
-30 A / |
—4—  pcrDelta_avg | dl —4—  pcrDelta_avg l/ —— crDelta_av
~40 - : 60 - — == ~60 - P -ave
pcrDeltaAdj avg | pcrDeltaAdj avg | pcrDeltaAdj _avg
16 18 20 22 24 20 25 30 35 40 45 50 20 25 30 35 40 45 50




LfA: sfDem

—@— sfDem

10 15 20 25 30 35 40






NdD: avg vs. d at each age group
age=15 age=20 age=25
11.0 t— avg 1 —4— avg —4— avg
14 +
10. 5 +
12 4
10.0 - 121
10 +
9.5 A 10
9.0 + 8 -
8 -
8- 5 | T T T T T T T T T T T T T T T T T T
30 35 40 45 50 20 25 30 35 40 45 50 25 30 35 40 45 50
d d d
age=30 age=35 age=40
_ ‘]5 4
—— ave | P74 awe —4— avg
16
141 14
14 13 A
13
12 4
12 4
12 4
11 4
10 A 10 - 11 4
30 35 40 45 50 35.0 37.5 40.0 42.5 45.0 47.5 50.0 40 42 44 46 48 50
d d d




NdD: model est vs obsOv@Q50

|
14 1 450 I
est / \
10 _
8
6
.
15 20 25 30 35 40

age




DeltaTypeAbbr=GrpByAge

P10AW NdD: D 5d NdD
DeltaTypeAbbr=GrpByDay

DeltaTypeAbbr=WeiAvgByD

25 A [ —4—  pcrDelta_avg 25 I —4—  pcrDelta_avg

15 It | pcrDeltaAdj avg 1 pcrDeltaAdj avg
20 - o 20 A
10 1 —4— pcrDelta_avg 15 7 15

pcrDeltaAdj avg
10 + 10 -
5 -
5 - 5
L U PO AU S O e s 5 e A
15 20 25 30 35 40 20 25 30 35 40 45 50 20 25 30 35 40 45 50
d d d



DeltaTypeAbbr=GrpByAge

P10AW NdD: D _15d NdD
DeltaTypeAbbr=GrpByDay

DeltaTypeAbbr=WeiAvgByD

80 - 80 -
—b—  pcrDelta_avg | —b—  pcrDelta_avg |
50 - # pcrDeltaAdj_avg | pcrDeltaAdj_avg |
40 - 60 - 60 -
30 4
—4—  pcrDelta_avg 40 - 40 4
20 A pcrDeltaAdj avg
10 + 20 20 +
0 R R R R R R IR
-10 4— . . . . S ot o ottt [y ot o o A s
15 20 25 30 35 40 20 25 30 35 40 45 50 20 25 30 35 40 45 50
d d




DeltaTypeAbbr=GrpByAge

157 —b—  pcrDelta_avg
10 pcrDeltaAdj avg
5
g Y S S Ao AU PSSy SR B S
-5
-10 A
1I5 2I0 2I5 3I0 3I5 4I0

P10AW NdD: D Q50 NdD
DeltaTypeAbbr=GrpByDay

20 1+ —— pcrDelta_avg
pcrDeltaAdj_avg be
0 e ——— — 5~ .
_20 T F
_40 -
20 25 30 35 40 45 50
d

DeltaTypeAbbr=WeiAvgByD

—b—  pcrDelta_avg 5
20 + pcrDeltaAdj avg
0+t e e e A ———
-20 - 1
_40 -
20 25 30 35 40 45 50




P10AW NdD: D_Est_NdD

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD
150 1 | —4—  pcrDelta_avg —4—  pcrDelta_avg —4—  pcrDelta_avg
125 4 pcrDeltaAdj avg | 190 7 pcrDeltaAdj avg | 190 7 pcrDeltaAdj_avg
100 -
\J 100 + 100 +

75 - Y

50 1 [ 50 | ! 50 t

25 4 |

O+t ——————t e e et 2 0 r————rm e e e e e ] L i e e e A
15 20 25 30 35 40 20 25 30 35 40 45 50 20 25 30 35 40 45 50



.00
.15
.50 1
. 25 A
.00 ~
.75 A
.50 A
. 25 A

.00

NdD:

sfDem

——

sfDem

10

15

20

25

30

35

40




(=]
N
1

=)
<




.50

dStH:

avg vs.

d

. 25 A

.00 -

.15 1

.50 A

. 25 A

.00 A

.75 A

avg

15

20

25

30

35

40

45

50




3.5

3.0

2.5

2.0

1.

1.

5

0

dStH: obsAvg vs obsO0v@Q50

—_— 50
' = est
[ ] avg
9 9 :
15 20 25 30 35 40 45 50




dStH: D_b5d_StH

—

pcrDelta_avg

15 20 25 30 35 40 45 50



dStH: D_15d_StH

60 -

40 -

20 ~

_20 .

_40 -

—4— pcrDelta_avg

30 35 40 45




dStH: D_Q50_StH

20
—4—  pcrDelta_avg
15 4
10
5 -
< \ | I L 4
e e e r T '| ------------- ‘W{-----
_5 -
15 20 25 30 35 40 45 50




dStH: D_Est_StH

—4—  pcrDelta_avg

25



.00
.15
.50 1
. 25 A
.00 ~
.75 A
.50 A
. 25 A

.00

dStH:

sfDem

——

sfDem

10

15

20

25

30

35

40




15 -
17 -

21 -
23 -
25 -

35 -

40

- 20

- -20



FrV: FrO1 vs Fr05 at each truss

organ|D=TO1
40 1 —— Fr0lavg |
FrO5avg

- ,,,,,,/””””’
20 -

10 +

0 _

16 18 20 22 24

age

organ|D=T02

60

50 A

40 ~

30 A

20 A

10

—}— FrOtlavg
FrO5avg

16 18 20 22 24
age




FrV trend at each age

age=15 age=20 age=25
20 + —— FrO0lavg —}— FrOtlavg 60 4 —+— FrOlavg
FrOb5avg 40 - FrOb5avg FrO5avg
15 1
50
10 30
40 A
5 1 20 A
0 1 30 4
10 A
TO1 T02 TO1 T02 TO1 T02
organlD organlD organlD




FrV: model Est vs obsFrV at Q90

140 -
— 50 e
120 - FrO1_est
o Fr05 est
100 ~
80 - ®
60 - 8
40 L
20 +
0 - T T T T T
16 18 20 22 24

age




FrV: obsFrV vs obsFrV@Q90

60 4 —— qd0
FrO1_avg
501 @  Fr05 avg 8
40 -
® s L
30 °
® o
20
®
®
10 4 ®
®
0 ] . T T T T T
16 18 20 22 24

age




organ|D=1
—— dlavg

1.5 dlaavg
1.0+

0.5 A

0.0 t=F o e

16 18 20 22 24
age

FrV: D Fr1 FrV

1.25 4

1.00 ~

0. 75 -

0. 50 -

0. 25 A

0. 00 -

organ|D=2

—4— dlavg

dlaavg

age




P10AW FrV: D_Fri1_FrV

400 -

—4— pcrDelta_avg
—4—  pcrDeltaAdj avg

300

200 -

100

-100




FrV: D _Ts_FrV

organ|D=1 organ|D=2
—@— d2avg 1.9 4 —4—  d2avg
0.04 - d2aave J d2aavg
1.0
0. 02 + |
0.8 A
0.00 === e
0.6 A
—-0. 02 0.4 -
—0. 04 - 0.2 A
T T T T T 00_ _______ Y I_________r________-l- ______
-0.04 -0. 02 0.00 0.02 0.04 16 18 20 22 24

age age



P10AW FrV: D_Ts_FrV

400 -

300 -

200

100

—4— pcrDelta_avg
—4—  pcrDeltaAdj avg




FrV: D_Q50_FrV

organ|D=1

0.0--—:—————-———————————————l- —————————————————————————

T I
-0.2 +
-0.4 -
-0.6
-0. 8

—4— d3avg
=1.01 —+—  d3aavg

16 18 20 22 24

age

organ|D=2
0.8 - + d3avg
—4—  d3aavg
0_ 6 1 \‘
0.4 1
0.2 +
LTI e I T e R
16 18 20 22 24
age




P10AW FrV: D_Q50_FrV

100 T
—4— pcrDelta_avg
75 4 —4— pcrDeltaAd] avg
50 o
L /
\ /
-925 \
=50
36 38 40 42 44 46 48 50




FrV: D _Est FrV

organ|D=1
0. 0 e e e e e
-0. 5 A
-1.0 A
-1.5 +
_2_ 0 -
—4—  ddavg
—2.5 1 —+—  ddaavg
16 18 20 22 24

age

organ|D=2
T I e e e e . e
-0. 2 1
-0. 4 -
-0. 6 1
-0. 8 A +—
-1.0 —4— ddavg
42 —4—  ddaavg
16 18 20 22 24
age






15 -
17 -
19 -
21 -
23 -
25 -
27 -
29 -
31 -
33 -
35




